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| Algebra2 Monday, 9/1 5 / 14

| * Warm-ups: Solve the following:

4w+ = —lb 20-Q= 8

1. 14y —3 =25 2. 42% + 6.4 =
14- Lﬂ =2 E‘: "'l LK 2

m =

3. 7w+2=3w—6 4. 2(a—1)=8a—6
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Algebra2  Monday, 9/15/14

* Complete and discuss warm-ups
. ¢ Discusston and Notes: 1.5 Solving Inequalities

* Assignment due Tuesday, 9/16:
A#1.5 page 37 #10 - 30 evens

Curriculum Night
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Section 1.5

LEARNING

TARGETS

* Solve inequalities with one operation

* Solve multi-step inequalities

Success Criteria:

Q&A, Guided Practice Problems, Homework

Trichotomy Property

® For any two real numbers, a and b, exactly one of the following statements

are true:

Adding the same number to, or :‘Illll"liliii;ll(‘_) the same number from, cach side of an inur,Jtu]m_‘ does

NOT change the truth of the inequality.
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== Properties of Inequali
e p quality

 Addition Property of Inequality

Words Example [
. Fot any real numbess, @, b, and ¢: 3<5 .

Ifa>bthena+c>b+ec. 34+ (-4) <5+ (—4)
Ifa<bthenat+c<b+ec “1<1

‘Subtraction Propexty of Inequality | 000
Words Example
For any real numbess, a, b, and €: 257
Ia>bthma—c>b—c 2-8>7-8

Ifa<hbthena—c<b-c

-6 >-15

Example #1: Solve an Inequality Using
Addition or Subtraction

® Solve 4x + 7 < 3x + 9. Graph the solution set on a number line.
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Practice — Solve an Inequality Using Addition
* Solve 4w + 19 < 5. Graph the solution set on a number line.
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@s'f‘“/? Multiplication Property of Inequality

For any real numbers, a, b, and ¢, where:

If a > b, the ac > bc

-2<3
C 18 positive: 4(—-2) < 4(3
. If a < b, then ac < bc =2 @)
—-8<12
If a > b, thenac < be 5> 1
is negative: -3)(5 -3)(—1
¢ is negative tea b e e (=3)5) < (=3)(-D)
—-15<«3
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For any real numbers, a, b, and c, where:

Ifa>b,then§>-z- 1% =9
- ¢ is positive: A —18 - __9
Ifa<b,then%<; 3 3

-6 < -3

If'a>b,then-§<§ 12>8

: L 12 8

¢ is negative: he |

Ifa <b,then®>2 =

—6<—4

Set-builder Notation

_ ° {x|x > 9} is read
- “T'he set of all numbers x such that x is greater than 9.”

{} (called braces) denotes “the set of”

| denotes “such that”
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Example #2: Solve an Inequality Using
Multiplication or Division

- 1 . .
* Solve — 37X < 1. Graph the solution set on a number line.

i - 2 | b

x> 3]
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Practice — Solve an Inequality Using
Multiplication

* Solve fgg = —9. Graph the solution set on a number line.
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Example #3: Solve a Multi-Step Inequality

* Solve 3(2q — 4) > 6. Graph the solution set on a number line.

3(20- ) L

Solve a Multi-Step Inequality

° Solve 90 = 5(2r + 6). Graph the solution set on a number line.




9/14/2014

Solve a Multi-Step Inequality

. x=7 . .
* Solve —x > T Graph the solution set on a number line.
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Due: Tuesday, 9/16/14




